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2. x2 + 4x l y2 = 5

(x2 + 4x + 4 1 + y2 =5+4

(x+2) 2 2+ y = 9
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Y2 - 4y + 4 = - 6 x - 1 + 4
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9( x2 +  4x) +  4(y2 -  2y)  q -4

9( x2 + 4x + 4) + 4( y2 - 2y  + 1)  = -4 + 36 + 4

9(x + 212 + 4(y - 1j2 = 36

tx + 212 - 112+ (y =
4 9
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a;;  xl = x + 2

Yl = y - 1
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1. x2 - 4x + 3y = 0

2 . y2 l 6x - 4y + 22 = 0

3 . 16x2 + 9y2  + 64x - lay  - 71 = 0

4. x2+y2  - 4x + 2y = 0

5 . x2  - 4y2  + ax + 24y - 20 = 0

6. 9x2-4y2  - 5 4 x  - 16y  +29 q 0

7 . 2y = x2 + ax + 22

a. 25x2  + 4y2  - 250x - 16y +  5 4 1 = 0

9. x2+3y2  - 4 x  +  30y +  7 9 = 0

10. 4x2 - y2  + 32x - ay  + 49 = 0
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